
BBN2000000  Pagina 1

REVISIE: 24-6-2021 



BBN2000000  Pagina 2

Nr. Omschrijving Artikelnummer Nr. Omschrijving Artikelnummer
1 Handle base 3 inserts XBBN2-500651
2 Handle cover 2-switch hard wired XBBN2-500689
3 M5 x 20mm long screw XBBN2-500147
4 Screw no.6x5/8" XBBN2-500997
5 M4 x 8mm long pozi pan sems screw XBBN2-500183
6 M4 stainless steel nylon insert nut XBBN2-500149
7 M4 shakeproof washer stajnless steel XBBN2-500150
8 M4 A2 s/st flat washer DIN9021 XBBN2-500151
9 M4.16 mm tamper proof-pan screw XBBN2-500152
10 Spacer 4.3x8x6 XBBN2-500153
11 Bottom motor housing XBBN2-500154
12 230V single stage thro flow fan motor XBBN2-500653
13 Motor controller + aux XBBN2-500797
14 No 8 x 1 inch long screw XBBN2-1001102
15 No 8 x 5/8 inch lscrew XBBN2-500156
16 Led holder (dustcare system) XBBN2-500157
17 Lens cover XBBN2-500912
18 Spirol spacer XBBN2-500158
19 Eco grille insert XBBN2-500159
20 Bottom motor gasket - cup motor XBBN2-500160
21 Mounting rubber XBBN2-500161
22 Nes processed top motor housing XBBN2-500162
23 M4 nutsert XBBN2-500163
24 M4.35mm lg.pozi-pan.screw.z/pl XBBN2-500164
25 M4 shakeproof washer XBBN2-500165
26 Cup motor mounting spacer XBBN2-500166
27 Cover moulding single grill XBBN2-500167
28 Mains cable blue 10M 3x1,5 XBBN2-500676
29 Stress relief XBBN2-500466
30 Cable clamp XBBN2-500903
31 Switch cover (plug handle) XBBN2-500346
32 Fuse holder XBBN2-501171
33 Euro socket (A1461000 Europe) XBBN2-500295
34 M4 x 16mm long screw XBBN2-500168
35 Socket gasket XBBN2-500294
36 M4 nylon insert nut XBBN2-500169
37 Terminal block (3-pole 16A) XBBN2-500170
38 Green rocker switch (white print) 0-1 XBBN2-500921
39 Red rocker switch (white print) XBBN2-500343
40 Switch mounting bracket XBBN2-500435
41 Fuse 5x20mm (10AMP) XBBN2-500197

REVISIE: 24-6-2021 



BBN2000000  Pagina 3

REVISIE: 24-6-2021 



BBN2000000  Pagina 4

Nr. Omschrijving Artikelnummer Nr. Omschrijving Artikelnummer
1 Drum base (Painted gray) XBBN2-500452
2 Drum liner XBBN2-500171
3 Drum liner for bag connector XBBN2-500173
4 Schroef 5/8-inch XBBN2-500907
5 23L container XBBN2-500832
6 Toggle fastener XBBN2-500779
8 M5 x 12mm long screw XBBN2-500172
9 3 inch castor XBBN2-5009381

10 No6 x 3/8 inch screw XBBN2-500178
11 Blanking cap fixing wire XBBN2-500179
13 No6 x 3/8 inch  screw XBBN2-500178
14 Blanking cap XBBN2-500138
16 Bayonet bag connector XBBN2-500914
20 Black cranked bucket handle XBBN2-500182
21 Spacer bucket handle XBBN2-500181
22 M5 x 16mm long SEMS screw XBBN2-500917

REVISIE: 24-6-2021 


	Blad1

